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Should education be made compulsory for all children up to the age of 147 Arguments: |.Yes. This will help to eradicatethe
system of forced employment of these children.Il. Yes. This is an effective way to make the entire population educated. I
No. We do not have adequate infrastructure to educate the entire population.IV.Yes. This would increase the standard of

Q1 living.
1 14 TP &g T b ot T & forg e sifard & < o e ue b 1. BT SO 39 ol @l oaRd BT R T
oI orae B @d e | Heg et 1,87 a8 ol et 9t Rifem w @ e uurdht adie B 0. TE sER v o
Hardt &t Rféa w5 & R vafeg gfvardt gfar @171 1v. &F1 509 Sifa &R & gum g
A All are strong
ot Hoed §
B Onlyl, llandlll arestrong
FHad 1, 11 3R 11 g &
c Onlyl, lland IV arestrong
a1, 11 3R v HolgT &
Onlyllis strong
D Had || FeTEd &
Should young entrepreneurs be encouraged? Arguments: |. Yes. They will helpinindustrial development of the country. 1.
5 Yes. They will reducethe burden on employment market.
Q 1 a1 I I T e S Al ok 1. g 9 §ur s ot e ® Heg #¥ 1131 3 IR SR )
qig &9 F4l|
A Onlyargument | is strong
ol a9 | Foled &
B Onlyargument Ilis strong
Fad o 11 Toled §
c Either | orllis strong
a7 a1 fsx 1 Aol b ©
b Both land Il arestrong
1 91R 11 T et &
Choose the box that iz similar to the box formed from the piven sheet of paper (X).
T T T T o0 TS @1 ST () § o9 91 & 59 2
Q3
a @ § I O
o &
(&4 (4} [2) 3) i4)
A 1 and3 only/ a1 3% 3
B Zanddonly}mzaﬁ'{ﬂ,
c 2 and3 only/ &dd 2 3 3
D 3and4onlwaﬁﬁ33ﬁ?4
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Q4

Dr. Miller has a busy pediatric dentistry practiceand she needs a skilled, reliable hygienistto keep things runningsmoothly.
The lasttwo people she hired were recommended by top dentists inthe area, but they each lasted less than one month. She
is now indesperate need of a hygienistwho can competently handl ethe specific challenges of her practice. Which one of the
following candidates should Dr. Miller consider mostseriously?

8. firer & U e oo a1 fRfdet &a Rifber snarg g ik 38 =il & Yok ® 9 Y IaH & fou Ue $9d,
faygfta greefifee & sraxadd g1 fad & anl &1 3=iH &4 & Wi dd Rifbs! grr sr=ifa fawar o1, df= 9 A
U el 4 Wt &1 T 9 9| 3d 3¢ UP gIRule & T oedd ¢ ol 3¢ 31ar &t fafky gafaal & vemar 9
HYIE §or | BT TR @1 Fufafed Iicar! & ¥ g R wad oifte Miikar 9 d9R &1 9w

Marilyn has been a hygienistfor fifteen years, and her current employer, who is aboutto retire, says sheis the best in the
business. The clienteleshe has worked with consists of some of the wealthiestand most powerful citizens in the county.

e uge auf @ greeife § 3R 39% adum e, o Yaifed 87 9l §, &1 w1 © % 3 39 sugwy ¥ uddy ¥
el oF ues! & o W P g, 390 St & 7 Ty o SR e wigaenet A s €

Lindy recently graduated at the top of her classfromone of the best dental hygiene programs inthe state. Prior to becoming
a dental hygienist, Lindy spent two years working ina day carecenter.

fofgl = BTeT &1 § IoU & I9F Sl ERuld b § 9 Uh § AU Hafl & IY TF R Ede 6l §1 Scd gl
&1+ " Ugd, felst = g1 |1e U € dWR Hex ¥ o fohan

Jlames has worked as a dental hygienistfor three years ina public health clinic. Heis very interested in securing a positionina
privatedental office.

W A U g Wy [Fafe o 39 9d 96 Sod gReiiFe & =9 1 $ fhar §198 U [l Sed by # ug
gifed # H 9gd I 3Ed 8|

Kathy is an experienced and highly recommended dental hygienist who is alsofinishingup a degree inearlychildhood
education, which she hopes will get her a job as a preschool teacher. She is eager to find a jobina pediatric practice,since
she has always wanted to work with children.

bt uH gyt R gl iRt Sea grgeie g, o URfie sau= fien o f3eht of ot o 361 €, o o sl
2 i 32 ia e & o # Fied fira oot a8 o Rifean snam & 98 1 & fow 3ge € Fife g gasn
= & U HH & dgal A
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Five girls aresitting on a bench to be photographed. Seema is to the |eft of Rani and to the right of Bindu. Mary is to the right
of Rani.Reeta is between Raniand Mary. Who is sittingimmediateright to Reeta ? Who is second from the leftin

photograph ¢

Ulg Sefhal pic! faaar & oy U sid ur o1 § | i1 I+ & 18 3R 3R foig & g 3R g1 B8 I & <rg 3R &1
I SR B st T 81 daT & Sleb 318 3R DI §31 82 Bic! H 918 3R 8 G DI 82

Reeta

iG]

Mary

i

Bindu

fag

Seema

iar

Q6

On what does Dakota relyin making her argument?

SHITT 304 O | [Foe TenT ot &2

statistics

S

emotion
CIEE]

Fairness

e

actualities

uRfeufa
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Q7

Select one exact fit figure from the choice to form a full square for figure — X

BT - X % Forg vl ot &= ) el 11 9 Ump e e aimepfey b1 = @Y

(X (1) (2} (3} (4)

Q8

|. There was a huge rush of people to the temple lastSunday the 15th of the month. Il. The temple authority had decided to
closedown the temple for repairs from 17th of the month.

. fUea Afdar arft #eR &t 15 akkg &1 \@iex | @t &1yt vig & . JféR v A 58 @t 17 e | 5 & fore
HfeR &1 §¢ S H1 By BT Ul

Statement |is the causeandstatement Il is its effect.

HUT | FRU & 3R FYA |1 TTHT TUE 2

Statement 1l is the causeand statement | is its effect.

FYT || FRUT § AR BYT | SHHT UHE &
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Both the statements | and Il areindependent causes.

&Y | 3R 11 AT 9T R §

Both the staterments | and |l are effects of independent causes.

HYF | 3R 11 AT Bt IR SR F UHE 8

Select a suitable figure from the four alternatives that would
complete the figure matrix.

AR [dped] H I U UG ATHI B T4 DN o1l AP AfcTrd Bl TR BT |

1) (2 (3 (4

www.anilsiriti.in




A largenumber of peopleinward X of the cityare diagnosed to be suffering from a fatal malaria type. Cours es of Action: |.
The city municipal authority should take immediate steps to carry out extensive fumigation inward X. |l. The people in the

area should be advised to take steps to avoid mosquito bites.

"I & TS Uad | go! G & aFll H Uldd ARGl & UHR &I FeH fhar a1 g1 $RaR & diid: 1. U8 & ATRYTieid!
WA & dT1s U H U YH- & & oIt debld deH 381 dieUl 1. &3 & Qi &) @ & PIe- 4 994 & forg
HEH I6MH DI HAg &l ] dligul

Only | follows

e | SITERT BT &

Only Il follows

Had (1 STH] HIA ©

Either | or 1l follows

T AT 11 STER HE §

Both | and Il follow

| 3% 11 ST SR B ©

Q11

A tailor cuteach roll into 10 pieces equally with the rate of 45 cuts a minute. Find out the number of rolls cutbytailorin 24
minutes.

U ol - U A DI 10 TR THal 1 Hlel, 39 WHR Ufd Be 45 Fe T 24 e # goff gRT &1e U 39 ot T
T1d Hiforg

120
120

50
50

32
32
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100
100

Q12

Find the odd one out from the options.

feeg] 7 9 fawd e Fra Sifero)

Whisper

SHTGHI

Murmur

ggdsiec

Sigh

Roar

Gels

Q13

Find the odd letters from the given alternatives

feu e fowedt o i aeR g

POXZ
PQXZ

BCON
BCQON

ABDF
ABDF

MNPR
MNPR
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Q14

Identify the figure that completes the pattern.
3 3THT P UgTi=IT ST Heet ST g Ll G

Q15

Choose a same series figure from the answer figure for the given problem

<l T 1 & fold IR ADa H & T RG] i Apidd g

Problem Figure Answer Figure

S [ [ S | |
SR
1 2 3 4
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Q16

Select a different figure from the given figures

&1 T aTpiodl § W U T aNepTa @1 g o
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Choose the figure which is different from the rest.

g 3MPid I Ol SIP] W T 3
1 (2 3) @ (5)
A 1
: 2
o 4

Q18

Gender stereotypes form the basis of

e =Taal T MR a1 &

Sex

e

Sexism

feftrarg

Gender

fefrr

Values
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Q19

APA stands for

e BT RTAHE ?

Administrative Procedure Act

uemaHAe utdsar sffafaaA

American Psychological Association

AP Edaoed TOfueH

Asian PacificAmerican

ERE ER R R RG]

Association of Police Authorities

gferw sifepiial &1 dy

Q20

Sex education focus on

I e frg W o ST Fxar &

Sexual safety

A TR

responsibility

forterd

Sexual safety or responsibility

g gran ar formerd

Both sexual safety and responsibility

g TR 3R Rt T
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Q21

Introducing a woman, Shashanksaid, "Sheis the mother of the only daughter of my son.” How that woman is related to
Shashank?

Ue Higan &1 IRET FRI U IRIE A Hl, 98 AL e 31 shaldt ael i Hi g | I8 Afgen W=e 3 5y TR Sefid 82

Daughter

et

Sister-in-law

W

Wife

el

Daughter-in-law

a8

Q22

A andB arebrothers. Cand D aresisters. A's sonis D's brother. How is Crelated to B?

ASMRBHE BICHRDTBAEI APISC], DB HE & ¢, 8 Y fFT UeR Fafid &2

Father

fera

Mother
Hl

MNiece

Heftsit

Uncle

Q23

One term inthe number seriesis wrong 24, 27, 31, 33, 36. Find that term?

e Y@ § U US T © 24, 27, 31, 33, 36, I8 UG T BIIY ?
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24
24

27
27

31
31

33
33

Q24

At the end of a business conferencethe ten people present all shakehands with each other once. How many handshakes will
there be altogether ?

U AEHe TR & ofd H SUfRd ¥ ar Uh-gal 4 U& aR g ad ¢ | $a e et ar gy fram
STE?

20
20

45
45

55
55

90
90
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Select the mirror image from the four choice for the given question

fom M0 qRe & o IR fAeredl § & guvr Bfd o1 =g &=

% EEEE

Q25

A 2
5 3
c 4
- 1

The Musi and Bhima aretributaries of the river

Tt SR i A6 @ werEe Akl §

Q26

A Krishna

HWI

B Kaveri

CACH|

Mahanadi

HEHGl
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Brahmaputra

EELES

Which one of the followingstates, is the largest producer of copper inindia?

o Profafag o @ #1991 75T YR 1 08 &7 998 931 IAES 22

Orissa

JSHI

B Karnataka

FlcH

Madhya Pradesh

qe el

Gujarat

The largestreserve of crude oil inIndiais found inwhich of the following places?

HRd H &= dd &1 9ad go1 Her Fufafea o 3 e we o urgr o g2

Q28

Gujarat

B Eastern offshore

udf sruadta

Western offshore

ufgHt rgddiy

Assam
S{HH
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Q29 The father of White revolution -———--

GGG G T B [N
A M.S. Swaminathan
UH.UY . WGHARA
B Dr.Verghese Kurien

1. aiffg B

c Dr. Manmohan Singh

31 7HEA [iE

Dr. Lala Latpat Rai
ST e daud I

Accordingto the Hindu Calendar Diwali falls on month

R bt PoqOr fRaret  wERAamdie

Q30

A Kartika
GAIGED

B Magha
HTY
Chaitra

GE]

Meena

H=

Q31 When did the Buddhismoriginated?

dig i @t I F9 g%
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7th and 8th CBE

7t 3R st wraTedt 3.,

6th CBE

6 TdTsdl 3.7,

5th CBE

5 Qdlsgl 5.4,

3rd CBE

3 Qdlegl 3.9,

Q32

The word jina refers to

forT 2reg 1 1Y B

Power

wifer

Victory

faerg

Wisdom

¥

Conqueror

EEG]

Q33

Who was the author of 75 Great Revolutionaries of India

HRA & 75 HE HifddINgl & ogd B U?

Geet Seth

T U3
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Kamala Narayan
hHe AR/™T

Bhim Singh

1t foie

Suresh Dalal

W g

Q34

Accordingto the ‘Solar Policy 2024, whatis the targeted installed capacity of solar power in Delhi by 20277

O i 2024' F 3TAR adf 2027 9% fEeeh H IR ol Bt dféd Relas &dd F g ?

5500 MW
5500 B 9

3500 MW
3500 H 9ic

4500 MW
4500 H Al

2500 MW
2500 BT dic

Q35

Which among the followingis nota standing committee?

Frafafad # 9 s 4 writ afafa 78 82

Public accounts committee

dlies oar Tt

Ethics committee

R Tfffd
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Railway convention committee

Iod gHe giafd

Business advisory committee

I AeeR JHfd
o5 Under PM = YUVA scheme areselected as beneficiary
diuq-ga1 g1 & ded &1 erHrff & ¥u T g1 oI &

Unorganized Workers

ST HHD

Woman Entrepreneurs

Higer IaH!

Writers

SEEET

College Students studying Political Science

ST AT &1 3T B g Blos B

Q37

A Nucleus consistof and

U It 3R Y e o1 81T 8

Electron, Proton

ZodeH, Ul

Electron, Neutron

SAdeH, g

Proton, Neutron

Ui, e
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Proton, Positron

Q38

“Survival of the fittest” was proposed in his theory of evolution by —-——----

qrgay S Iadeiadl &1 Ukd 3% e & Rigia # iGar mar

Darwin

gifa

Mendel

Hed

Einstein

e

Aristotle

3R]

Q39

W.M. Stanley got noble prize for the invention of

SR UH, T Bl

HAHR F o Tad REHR A

Virus
EILEE:]

DNA

sieY

RNA
3RTTY

Bacteria

i
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Which of the following British persons admitted the Revolt of 1857 as a national revolt?

Frafafed # 9 ey fafew sofda A 1857 F A5 #1 Wiy gk & wud wier Fan

Q40

A Lord Dalhousie

dls Soalelt

B Lord Canning

dis i

Lord Ellenborough

GISRUEEIR

Disraelli

et

What was the mainreasons behind Mahatma Gandhi’s decision to upliftthe KhilafatIssue?

f@apd He &1 I & e M & Byad & Ul YT HRUT &1 47

Q41

To bring more unity among Hindus and Muslims.

fggait iR qoanHT & o9 MR 3fftie udhal am

To bring more unity among Hindus and Christians

fegaif 3R Sargal & T 3R 3ifies UHdr am

To bring more unity among Christians and Muslims

$oEdl 3R gEaHE! & o 3R ffie ghd o

To bring more unity among Jains and Christains

Wil SR SUTEal & o SR e Thar

The image of ‘Bharat Mata’ through a painting was depicted by

U Ui & H1eH ¥ 4R AT $1 3fd & 5ud gr1 S mar un

Q42
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A BankimChandra Chattopadhyay

dfby g gE ™

B Rabindranath Tagore

ey 2R

MNatesa Sastri

T AR

Abanindranath Tagore

gt TR

Classification of Economics into two branches (Marco Economics and Micro Economics) was done by

& gRT HUYRE I a1 RATS] (H1h] HYRRE 3R geH S4Re) o arffgra fasan mam )

Q43

A Ragnar Frisch

IR s

B Karl Marx

PId HaY

Adam Smith

usH [y

Alfred Marshall

3rabs HIRld

044 Which one of the followingis a formal source of credit?

frgfefad & T $F 160 &1 Uaiie I 82

A Traders

SR
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Cooperative societies

HgbRI e

Money lenders

R ey

Friends and relatives

for ud R=eigr

Q45

All loses and expenses are

i 71 ofr =g g

debited

@

credited
o H]

both debit and credit accordingtoplan

gier & IER sfae 3R Hise gl

No entry

PIg TAW e

Q46

Planning Commission was setupin

TS 3TN &1 VT o # TS 4

1950
1950

1951
2351
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1947
1947

1969
1969

Q47

Inthe context of Basketball, which of the following statements is correct?

ahcald & e § Faftafag H o ®9 W sy o8t 8

wo teams of Six players arerequired to starta game.

W & & F fou o faafsal &1 <1 Al $t srawgdar gt 8

wo teams of Nine players arerequired to start a game.

T = B3 & foru i faarfedt &1 & Tl $t sazaddr g 2

wo teams of five players arerequiredto starta game.

W J[E d3 & (o dig faanfsal &1 1 A9 & sazgsar gt

wo teams of Eleven players arerequired to starta game.

Wd Y A & fou 7IRg faanfsdl $ia) dmi @1 snavgddl el gl

Q48

Which country won most ICC women's world T-20 cups?

frg 2w 3 gaifle ansuRit Afgen i@y doo Fu ofia?

Australia

3 fer

L

India
L IEG]

Sri Lanka

g1
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England

gwls

Deodhar cup or Deodhar trophy is related to

FgeR HY U1 g TTH _ Ydefea ®

Q49

A Cricket

febepe

B Kho Kho

gl-@l

c Kabaddi

Fagl

Hockey

e

Which countryis the host of the World University Games 20237

fary fayfaee 9 2023 F1 AoeEE ST AW E?

Q50

A India

sfaan

B China
GiC|

Australia

3T feram

-~

USA

PRSI
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Q51

Ifthe width of arectangleis 12 cm less thanits length and its perimeter is 60 cm. Whatwill be the width of this rectangle?

gfe U 31U B IISE IUS! das U 12 U6 $H & 3R ST URAN 60 TH B 1 5T 3M10d S IS 91 §HIT?

9cm

o THt

12cm

12 9t

18cm

18 THT

2lcm

21 Ot

Q52

Ifthe sides ofa squareincreased by 20%. Then find the area increased.

afe U ol @ Yeft H 20% @1 g g 8| bR g1 gon aFwd 1d Byl

20 %
20 %

40 %
40 %

25 %
25 %

44 %
44 %

Q53

The product of two numbers is 120 and the sum of their squares is 289, Find the sum of the number.

31 GBIt 1 IUAEE 120 8 3R 395 g7 1 AR 289 8 | GBI BT GAT Fd DI
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20
20

23
23

169
169

53
53

Q54

A scholar was asked to find the arithmetic mean of the numbers 4, 11, 7,9, 16, 13, 8, 19, 18, 21, 12 and x. He found the mea n
to be 12. What should be the number inplaceof x?

US fagH ¥ 9@ 4,11, 7,9, 16, 13, 8, 19, 18,21, 12 311X x BT BT H1eD 1 B34 & fold FHeT a7l I8 H19 12
O « & WHE R e 9 Y= g gifge

17
17

31
31

Q55

A grocer has asaleofRs, 6435,Rs, 6927, Rs. 6855, Rs, 7230 and Rs, 6562 for 5 consecutive months, How much salemust he
have inthe sixth month sothat he gets anaverage saleof Rs. 65007

U THMER TR 5 He Ml & AU 6435 FUL, 6927 IUH, 6855 TUL, 7230 TY 3R 6562 TUY &1 faeh! FT 8. TS HeH
# 39 fha-t fawt 3t =gt aifd 39 6500 30T &Y 3ifad ! U 8lr
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Rs.4991
%, 4991

Rs.5991
$.5991

Rs.6001
%. 6001

Rs.6991
%.6991

Q56

The average temperature of Delhiinthe firstfour days of June 2017 was 52 degrees. The average for the second, third,
fourth and fifth days was 55 degrees. If the temperatures of the firstand fifth days were inthe ratio 5 : 7, then what was the
temperature of Delhi on 5th June 20177

9 2017 % Ygd 9R o1 # fGeeht &1 sftwa amom s2 &t ur. gar, da, 9t ofk gigd = o1 sitwd ss feuft . ofg uea
3R uted fa &1 AW 5.7 & SUrd § o1, a5 97 2017 @1 e &1 amuHE a1 o

36 degrees

36 oot

30 degrees

30 f&uit

48 degrees

a8 f&lt

42 degrees

a2 T30t

Q57

What is the decimal equivalentof 11/167
11/16 1 SIATAT T H1 82
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0.6875
0.6875

0.75
0.75

0.625
0.625

0.8
0.8

Q58

Identify the fractionthatis NOT equivalentto the others:

39 fi &1 UggH & 3 F TR Tal &

12/21
12/21

20 /35
20 /35

15/27
15/27

16/28
16/28

Q59

A cyclistand a jogger startfrom two points A and B towards each other and meet after 6 hours. The cycliststarted fromA at
a speed of 4 km/hr and the jogger started from B ata speed of 3 km/hr. Find the distancebetween A andB.

0% IRl aa® 3R U SR g1 fig A 1R 8 ¥ UH-gHX @1 3R o Y &d & 3IR 6 °e 16 Hed ¢ Sefeha aas
A F 4 farfiyder &t 1fa § Ie1 IRF BT § 3R arsH1 8 ¥ 3 fbtii/ter &t wifa 9 9o IRF Ba1 81 A 3R B & & B gt
T S|
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36km

36 fpHt

42km
42 et

48km

48 fooeit

54km
54 fHT

Q60

Ram and Shyam travel the same distanceat the speeds of 10 kmph and 15kmph respectively. If Ram takes 30 min longer than
Shyam, then the distancetravelledis

I 3R TG G &3 B HH: 10 [FH Ufd G oiv 15 frft ufa g2 &t vfd | o & &1 3l 3w wm 9 30 e afde
Ad1 &, i ag & TS g5 e

12km

12 Tt

20km

20 Tt

15km

15 fopHt

24km

24 Tt

Q61

Findthe valueof 1+ 2 +3 + 4 + ....+20,
1+24+34+4+..+20 P HFE TG HifeQl
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200
200

210
210

420
420

400
400

Q62

Convert the decimal number 100 to binary.

2RFHd T 100 H! A5 Hacd |

1100100
1100100

1010000
1010000

1001100
1001100

1100100
1100100

Q63

The difference between the compound interest and simpleinterest on certainsumat 10% per annum for 2 yearsis Rs.631.
Whatis thesum?

2 a8 & fore ufd avf 10% @1 R ¥t AfYa W R IwafE sart iR weRY sure & g &1 Siav 631 ¥Ud ¢, AR 1 82
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63100
63100

56000
56000

42160
42160

68000
68000

Q64

At what percentage simpleinterest per annum a certainsumwill doublein 10 years?

fore wferera wmemor sare Uit 99 W e [ifa af@r 10 9wl @ ST 8 ot

7%
7%

8%
8%

9%
9%

10 %
10 %

Q65

A traintravels fromStation A to Station B at an average speed of 75 km/hr, while another traintravels from Station B to
Station Aatan average speed of 50 km/hr. Whatis the ratio of their speeds?

U YS! WA A Y WYH g TF 75 foori/mer oF aid 1fd § aen #at g, Siafs gest YerTal T 8 §RIH A TF 50
farfl/eer ot st fa ¥ o S §1 3! fa @1 U o 87
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'4:3’
‘4.3’

32"
'3:2

'6:5'
IE:SF

'7:6'
76"

Q66

Rs. 2250is divided amongthree friends Ajay, Vijay,and Rajinsuch a way that 1/6th of Ajay’'s share, 1/4th of Vijay's shareand
2/5th of Raj's shareis equal.Find Ajay’'s share.

2250 FU8 1 9 Sl 3y, [T9Y 3R 39 & &9 39 UeR favifera far o & & arey & B &1 1/6, fAea & B
&1 1/4 3R T & B 71 2/5 BT SR 2. 3oy &1 gy 9d Siford|

Rs.1080
¥%. 1080

Rs.720
W, 720

Rs.450
%, 450

Rs.1240
%.1240

Q67

A group of students has aratio of boys to girls as 3:4. Ifthere are42 girls, howmany boys arethere?

®HE & Us O T as@] R TSl 13U 34 81 12 42 el € 4 b asd &2

www.anilsiriti.in




36
36

32
32

30
30

27
27

Q68

Ina mixture, the ratioofwater to juiceis 3:2. If 10 liters of water areused, how much juiceis there?

U fryur § it 3R T &7 31U 3:2 81 Afe 10 ofex U @1 SuhnT fsan wnan €, &t e 39 g

B liters

6 Tlce

8 liters

g diey

5 liters

5 TieY

4 liters

4 Alex

Q69

There are a total of 1236 students ina school. Ifthe boy to girl ratiois 1: 2, find the difference between number of girl s and
boys.

UF THd H od 1236 Jandl €1 9fe dsF-ase! &1 3T 1: 2 8, T TSfBal 3R ds@! & BN & & 3R FId DI
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412
412

824
824

241
241

214
214

Q70

A man purchases a shirtworth $100 at a discountof 20%. Whatis the amount he pays after applying the discount?

U@ 3MeHT 20% B Fe TR $100 Ted T UC Wiledl g1 Fe AL B & 915 34 fhart IR BT WdH BT ISl g2

580
580

588
588

592
592

598
598

Q71

A train covers a certaindistancein 35 minutes. To cover the same distancein 45 minutes, how many percent slower must it
travel ?

U YeNTS! Udh AfEd gif 35 e H ag &l g1 361 gdl &l 45 iFe & ag &4 & forg 39 fara ufdwa 4R § 9@ grm
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14.28%
14.28%

17.14%
17.14%

22.22%
22.22%

23.08%
23.08%

Q72

Ina division operation, the divisoris 5 times the quotient and 9 times the remainder. Ifthe remainder is 25, what will be the
dividend?

HRT 33 @1 foran § WISTes YT &1 5 AT a1 S &1 9 7T 8idT 6 | 33 2 25 8, T WIS 1 1T

10170
10170

10150
10150

11150
11150

11170
11170

Q73

Let x=(433)"24-(377)*38+(166)*54. Whatis the units digitof x?
HH AT x=(433)424-(377)"38+{166)754. x P SHE 3P H 57
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Q74

A cando acertainwork in the same time inwhich B and C together candoit. IfA and B together coulddo itin 10 daysand C
alonein 50 days, then B alonecoulddo itin:

A U FAfEa &t & Ia- €1 99T ¥ & Tl ¢ fordd THT # 8 3R ¢ fad & ghd 21 a2 A 3T 6 fdes 58 10faai &
X Thd ¢ 3R ¢ 3hd 50 i H T Thar ©, di 8 3rdbd 59 fabaa 21 & &% Ipan &2

15days

15 féa

20days

20 feA

25days

25 &=

30days

30féa
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Q75

A takes three times as longas B and C together to do a job. B takes four times as longas A and C together to do the same
work, If all three, working together cancomplete the jobin 24 days, then the number of days, A alonewill taketo finishthe
jobis:

AP TS B QU & | B 3R ¢ ¥ dF 1 3F T a1 €1 8 P THH S/ $H3 8 A 3R ¢ ¥ IR T s w9y
T &, afe I e B & 24 A & Q@ B Thd €, a1 A BT 3rchdl B QT B | foant foT @

100
100

96
96

95
95

90
80

Q76

Select the correct passive formof the given sentence, Where were they playing the cricket match?

Where was the cricket match played?

Where has the cricket match been played?

Where will the cricket match be played?

Where was the cricket match being played?

Q77

Choose the correct infinitive formand complete the sentence: "l tried a healthy diet lastyear."

to follow
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following

follow

followed

Q78

Fill inthe blanks with the most appropriateverb: The Children --------- football in the ground now.

are playing

played

playing

will paly

Q79

Identify the correct usage of "relative pronoun” and complete the sentence: "The book,

interesting.”

she recommended, is very

which

that

whom

all

Q80

Fillinthe blanks: Apples arenot as ..., as oranges.
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cheaper

cheap

cheapest

b more cheaper

Q81
Another term for is Predicament

eternal
’ Plight
¢ proud
b end

Q82

The synonym of skill’is .......

wish

work

ability

b task

Q83

Whatis a synonym for the word “unlock”?
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shut

open

undo

D close

Q84

The synonym of ‘clean’ is........

put

wash

hang

D push

Q85

The synonym of ‘tired’ is .......

kind

sleepy

ready

b angry

Q86

Another term for ESSENTIAL is
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Desirable

Advisable

Beneficial

Unavoidable

Q87

Fill inthe blanks with suitable Adjectives: AC became a mandatory household. The weather inVelloreis
the year.

all round

foggy

summer

sultry

hottest

Qss

Fill inthe blanks with suitable Adverbs : The weather here is cold.

very

some

50

more
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Q89

Choose the best ANTONYM for the following word: AGREE

disturb

disagree

disrupt

D dismiss

Q90

What is the antonym of sure?

Uncertain

confused

adorable

b core

e Direction:Choose the word that is most nearly oppositein meaning to the word : NOTHING

everything

anybody

something

D being
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Q92

Choose the best ANTONYM for the following word: “Borrow”

Cowardice

Timidity

Lend

Fear

Q93

Complete the following sentences with a word that is oppositein meaning: Everybody likes Jane, but
likes Tom.

-----------------------------------

hates

loves

delights

appreciates

Q94

Choose the best ANTONYM for the following word: “Accurate”

Inferiority

Indefinite

precise

Harm
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Q95 i )
Choose the best option: The Harry Potter books sold more than any other book after the release of the movie,

edition

copies

printout

b publications

Q96

Choose the best option: The  of our travelers is our priority.

safe

safety

safely

D safetiness

Q97

Fill upthe blanks with suitablewords: You'll have to learn to control your ............... ifyou still wantto work here with us.

mind

temper

reason

D habit
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Q98

Direction: Choose the one which can be substituted for the given word/sentence : One who supervises inthe examination
hall

Invigilator

examiner

mentor

professor

Q99

Choose the synonym far the word “chaos”

Orderly

Systematic

Confusion

Calmness

Q 100

Find out the meaning of the guoted word based on its usageinthe sentence. The doctor gave a ‘lucid’ explanation aboutthe
operation.

Muddled

Ambiguous

Unclear
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Clearand easy
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Question Question Question Question
Number Answer Key Number Answer Key Number Answer Key | Number Answer Key
1/D 26 | A 51| A 76 | D
2|D 27| C 52| D 77 | A
3|D 28| C 53| B 78 | A
41 B 29 | B 54| D 79 | A
5|D 30| A 55| A 80 | B
6| D 31| B 56 | D 81|B
7D 32| D 57 | A 82 |C
8|B 33| C 58 | C 83| B
9|C 34| C 59| B 84 | B
10| D 35| C 60 | C 85| B
11| A 36 | C 61| B 86| D
12 | C 37| C 62 | D 87 |C
13| B 38| A 63 | A 88 | A
14 | D 39 | A 64 | D 89 | B
15| A 40 | D 65| B 90 | A
16 | C 41| A 66 | A 91 | A
17| D 42 | D 67 | A 92 | C
18 | B 43 | A 68 | B 93 | A
19 | B 44 | B 69 | A 94 | B
20| D 45 | A 70 | A 95| B
21| D 46 | A 71| C 96 | B
22| C 47 | C 72 | B 97 | B
23| C 48 | A 73| C 98 | A
24 | B 49 | A 74 | C 99 | C
25| C 50 | B 75| B 100 | D
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